1.

2.

Answer - B

https://previouspaper.in

General Aptitude

AE® 59 UGS HRI—2015

Find the next term in the following series.
2.9, 28, 65, 126....c.

(A) 215
(B) 219
(C) 217
(D) None of the above

Answer - C

One evening before sunset two friends
Sonal and Raju were talking each other
face to face. If Raju’s shadow was exactly
to his right. Which direction was Sonal
facing ?

(A) North

A man walks 5 meters straight and then
10 meters to the right. After this he
continuously turns left and every time
walks 10, 5 and 10 meters respectively.
How far is he now from his starting
point ?

(A) 10 meters
(B) 5.2 meters
(C) 53 meters

(D) 3.5 meters

frefatag goft & e ve I L |
2,9, 28, 65, 126.......
(A) 215
(B) 219
(C) 217
(D) W H FE T

Answer - C

T WA ik & @ < i gea iR 1
T . S I 91 T 9 | AT T
% TS SHF o 3R IS W@ a9
o fowm o Hg o e 12

(A) IH
®)
(C) =t
(D)

s

Answer - C
& Al 5 Hied |Y Heral § 3R e opff
T 10 HIeX Tl & | 3ok TR TIF aR
Al AR e g FEE: 10, 5 3R 10 e
Tl § | 98 379 319 YR @ § T
W WE?

(A) 10 HX
(B) 5,2
(C) 5(3H

(D) 35 "X

https://previouspaper.in
Answer - B



4.

| httpgdipreyiayspaperinturn 90° in the
clockwise direction and then 135° in the
same direction and then 270° anti

clockwise. Which direction am I facing

now ?

(A) South - West
(B) South
(C) West
(D) North - West

Answer - D

Consider the following chart :

fegm # et 90° ¥H S ;I fow H 135°
o T SR e H He w g o faia fewn A
270° 5 W § fer e e % @ {2

Number of girlsin a
school B

0000000
.......

ooooooo
0000000
oooooooooooo

Number of Boysina —Sgasaid

ooooo

school B R

T el | Trefwdl
H HEA

Th e ¥ AgH

What part of seats are vacant in the

school ?

(A) 2 part
8

(B) -S-part
8

(€) Zpart
8

(D) None of the above

Answer - B

©)
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Answer - B




6.

7.

https://previouspaper.in

Manisha isat 27 rank fromtop inamerit 6. 43 forenferai it wiiees e & weiron 1 27 9

80

(A) 241

(B) 210

(C) 425

(D) 184

list of 43 students. What is her rank from M ¥ | 391 Tifger gfa ¥ fd ¥ aF-4
the other side ? WA ?
(4) 10t (A) 1078
(B) 15t (B) 1541
(C), 17 (C) 174
(D) 16t (D) 167
Answer —C Answer - C
Find the term in place of ?". 7.7 Y %! S8 I TG T4 R ;
H 12 8 16 7 25 21

12\(8 16Y7 25\(21
80 207

(A) 241

207

(B) 210
(C) 425

Answer -D https://previouspap(@.)in 184 Answer-D



AkadHiFB4RsSMaHEPERRIrA go for a dinner.
Each orders either Paneer Tikka or
Roasted chicken.

(a) If Akash orders Paneer Tikka then
Brajesh orders what Charu had
ordered.

(b)  If Brajesh orders Paneer Tikka then
Akash orders the dish that Charu
doesn’t order.

(c) If Charu orders Roasted chicken
then Akash orders the dish that
Brajesh ordered.

Who among the three always orders the

same dish ?

(A) Akash

(B) Brajesh

(C) Charu

(D) None of these

Answer - A

In a birthday party of a baby boy Pratik,
40 persons kissed him and 25 persons
shake hand with Pratik. 10 persens kissed
as well as Shake hand with him. How
many persons are there in a party ?

(A) 25
(B) 55

Q) 75
(D) 35 Answer —B

8.

https://previouspaper.(lD)

Y, J9Y R TE dH AWM F TR T

Y| TAF 1 TR foam a1 TeE o

i 3ATeT feam|

(a) I TR R fearmt &1 AT <l ¢
3 TN TR AT 2 B | WA e
fean|

(b) e s R foaem 1 A AR T
RIS 9 ATET <1 ¢ S IE A
LGRS

() IR IF I Foeh et oxal € d
FA

T H g, i gue few eet &t §72

(A) SR

(B)

Q) =%

(D) T ¥ FE T&l
Answer - A

TF Bl dSF Tard &1 wHied el ¥
40 T 3 Y e fora 3R 25 @Rl 7 3|
& Toeman, 10 & 3 e oft foran siR &
o} fieTren, saTsd ol | feha o o 42

(A) 25
(B) 55
Q) 75

35 Answer-B



10.

11.

The URS/AASTOBERARR the hands of the
clock at 10 : 25 is : -

(A) 180°
10

197

B 197

3 s}
195—
©) 197

(D) 190°
Answer —-B

Which of the following graph shows
relationship between the pressure and

volume of a gas ?

Vv
A
Volume
(A)
Pressure P
Volume
(B)
Pressure
I\
Volume
(€

Pressure P

(D) Data Insufficient ~Answer =

10.

11.

httpa://previouspape'rf'ﬂ))

St & el o o4 10 : 25 T eI (reflex
angle) B :

(A) 180°
10

197>

® 1975

3 Q
195—
© 1957

(D) 190°

Answer - B

frefafad 8 § #19-91 7% & 19 & 76
R T F GY Y w22

Y

Volume

Pressure P

Volume

Pressure

T
>

Volume

©

Pressure P

Y9 € Answer — B



12.

13.

https:/%)reviouspap r.in
a+Db means a—

If
a—b means axb
aXb means a+b

a+b means a+b

Which of the following statement gives
value 8 ?

(A) 1+2-6%3+8
(B) 1-2+6%x3%8
(C) 1-2x6+3x8
(D) None of these

Answer - B

Fill in the blank space in the following
table :

5 | 7 NNND

3| 8 18

11| 5 24| 9
1339210
(A) 22

(B) 23

(C) 24

(D) 25

12.

13.

Answer - D https://previouspaper.(if)) 95

afE  a+b 1 HGEH § a—b
a—b & WIAd gaxb
axb & Aqes §a+b
a+b & Waes §a+b

Al fretfofed o 9 f o %1 7 8 8 ?

(A) 1+2-6x3+8
(B) 1-2+6x3+8

(G 1-2x6+3%8

(D) T § g T

Answer - B

Freffan Yo ¥ fem o %1 1 &1
7 111 ] 231 8
8 181 3

i1 | 5 24 | 9

121 | 94 ¢ |10

(A) 22

(B) 23

(C) 24

Answer - D



14,

15.

Reddfteie/BERIMPRAARG B tatements and
two conclusions and decide which of the
conclusions logically follow the given
statements :  Apswer — D

Al gooa athletes win.

All good athletes eat

Statements :

well.
Conclusions I: All those who eat well
are good athletes.
I : All those who win eat
well
(A) Only conclusion I follow.
(B)  Only conclusion II follow.
(C) Both conclusions I and II follow.
(D) Neither conclusion I nor II follows.

If square stands for hard working, circle
stands for employed, the triangle stands
for rural and rectangle stands for
intelligent. Study the following figure and
answer the following questions :

12

10

Rural hard working people who are
neither employed nor intelligent are

14.

15..

ATl o2 TR S e SR ) freed ofu | s

Answer -D

gt =8 wydle §ied 2
[t 37 TYele oTe 4 | |

L

freed 1 ot ot & st @R § o
TYee § |

I : 3 qeft <7 forerd € et @ €|

(A) e frerd [ 91 e &

(B) ke FTeehd T 91t 2y 21

(C) il fott 1 Wsl 11919 2 £

(D) 7 fe kel I iR € 11 ot 2 2
qﬁ{?ﬂf; ‘Tﬁ%ﬁ, Tﬁw;ﬁ:ﬂmm, ﬁ[“jﬁ,
1 freferfea fom &1 e @ ool &
I

12

10

T e g s o 9 a@ gt
R 7§ IR AW e 2 51 g 4y Q

indicated by region : gt ?
(A) 6 (A) 6
B) 5 (B) 5
k] 3 © 3
(D) 4 Answer —C https://previousp?Bejr.ir]l Answer - C



16.

17.

18.

https://previouspaper.in
At P Teans & s daughter of b

If
a—b means a is husband of b
ax b means a is brother of b
What does the relation px q—1 show ?
(A) pis son-in-law of r
(B) pis brother of r
(C) riswifeofp
(D) None of these

Answer - D

If South-East becomes North. Then in the
same way what will West become ?

(A) South-West

B) East

C) North-West

D) South-East

Answer -D

(
(
(

Pointing to a photograph, Vandana says,
“She is the elder daughter of my mother’s
husband”. How is person in photograph
is related to Vandana ?

(A) Sister

(B) Mother

(C) Sister in law

(

16.

17.

18.

afq a+b?ﬂW%'a,bﬁaﬁ%
a~b 1 7Ed § a, b I &
axXb 1 HATE T, a, b H E &

?‘ﬁqu—erﬂWﬁT%Z

(A) p,rﬂmi'%l

(B) p,rTm“Tﬂﬁc%l

(C) 1, p I e R

(D) ¥ 8 =% T

Answer-D

3fe Sfyo-gd, IR I 9@ @ 4 e o
iy oS S o 2

(A) <HuI-IgEH
B).

(C) IW-Tv=m
(D) -

Answer -D

gl TER Sl AR TEHRL g1 1 Fal ' a5
T A % ufd oS 9d §Y @ e &
sfed SN e & o o wray B2

(A) &
(B)
(C) 77

D) None of these Answer — Ritps://previouspapefliy 9 Y @5 T8l Answer —A



19.

20.

21.

22.

https://previouspaper.in

Which of

o *rRIeTe—2015

hel following number is

1o,  TreAfeifiaa o </ w1 3% o 3 firmr 7
different from others ?
lg\.l 41 (A) 41
(B 6 (B) 61
&y 62 € 85
(D} 115 Answer-D (D) 115 Answer-D
I qns |+ 0. Az A +
neans |- % aﬁ-'qu e
ans | X + e %
ans |~ 3 -'T:,q)j -
§=2+10H2xb=_2 §-2+1042%6=_2
(A). 12 (A) (32
(B) 14 (B) 14
(C) 16 {
D) 18 Answer - D O™ le Answer —D
(D) (D) 18
What is the mext term in the following ' 5,  Fefafiag ST o 20T ve A g ?
sequence ?
T, 5, ]4, 00, 5;, ?____ ] 3 14 30 75 2
(A} 91 (A) 91 &
(B) 92 (B) 92
(€) 93 (€ 93
(D) Nond of theaboye. Answer—A (D) 3%iad 9 9 FE 7 T Answer—A
Which region represents voung, educated ;i@ 89 7], foriesm ve faamsT 9w
and unempld }-'eél persons ? ST i el 27
1 —
roung AT T \‘“-TUneuuthd Rl _mﬁ{lf&;a
person ( - %\. 6 s E’TW 1 \
Ll ~ ") \ b \
\{ RS . g W 31
e | ~}:11.'1p;oyl-,‘d; L - = ‘__Tﬁmr{ il
o | ‘ 7
(A) 1 A 1 M
(B) 2 (B} 2
(C) : https://previouspa eﬁ% J
(D) 4 lrnsWer—A PeAP - D) 4 Answer — A




23.

24.

25.

ind the missing term ;
Fmﬂttps:/‘/%revllogspaper.in

3A36DZ 2 2N

(A) 18G12

(B) 20G13

(C) 18G13

(D) None of the above Answer—-C

Find the wrong term in the following
sequence :

2,4, 8,4,8, 16, 6,12, 26,8, 16, 32
(A) 16
(B) 26
(C) 32

(D) None of the above Answer—B

How many among the following is neither
educated nor player but is male and
shopkeeper ?

Shopkeepers
Lﬁm 7+——Players

12A16/ 13
7@< ——Male
9 /11 8
&\—Educated
(A) 4
B) 6
(C) 12
(D) 11

23.

24.

25.

Answer ﬁtFps://previouSpaDEV-(ﬁ)) 11

q T 1 F ¢
3A3,6D7,_2

(A) 18G12
(B) 20G13
(C) 18G13
(D) W 4 FE

‘ﬁ ’T‘gf Answer —C

frefaras sEn o e 48 916 %4
2.4, 8 4,8 16,92, 26/ 8, 16, 32.

(A).-16

(B)) 26

© 32

(D) 37aa 5 A R T Answer -8

freifefaa F 2 fred 7 e £ 7 faerd

mwagwn?ﬂa;?

D

12A16 /13
o Jasl 1§ %
[ 5 N

(A) 4
(B) 6
(€) 12

Answer -




26.

27.

28.

Whi?ﬁpgi /LQ?J‘.:’ BB g four logical

diagramsi represents correctly the faardl, e faerel, @ 3l & weg el
relationship| between Tenis players, I WEI-WE g § 7
Cricket pl{vets, Students ?
\ | \ /*-\PY\ 7S R l'//:w\ (—ﬁx i 7N 7SN
D \&_ @), O ) () &Y | ok T )
N \V - T N \\:__, / /I \____, AL N f
(A) ‘ (B ) (D) (A} (B) () (D)
Answer - B Answer — B
If  CAT=25 7. Afg “CAT=25
GE[l#3 GET =33
DOG =27 DOG =27
| T
Then AWE=_1? ol A AWE=_7?
(A) 28 (A) © 28
(B) 29 (B). 29
(C) 30 (C) 30
(D) None of the above Answer-C (D) I o B FE T Answer — C
Count the number of cubes.in the 28 (Fifed fax o == F1 g 1 T w9
following figure :
Al i/ Y,
ool
ol N \\\ N s\:; :Q\ § AN \:
N R $V8 N TR SV
N \:\ N S {\ A\\q § N
N R QR N R NS
N dRVSN N SRR
N QPR N AN
N W N A
N N N :
3 N ¥ S
| el
(A) 92 I (A) 92
(B) 87 | | (B) &7
(C) 89 ’ (C) 89
A -D | A -D
(D) 90 . nswer https://previouspape@.-i—')d 90 nswer

' 26, (IR o) fadl o 9 FR-wr 93, Hm




20, Find"WRSARIGVioUsRaRer i the following 20 =il T o e 98 T HW
diagram :
5 6 8 5 5 6 8 5
3 5 9 10 3 5 9 14
2 11 13 13 2 11 13 o
16 18 19 16 18 19
(A) 3 (A) 5
(B) 4 (B) 4
Q) 6 (C) 6
(D) None of the above Answer —B (D) JudE H | HG T8 Answer — B

30. What is the number opposite to 5 in the 30, ' & Freffeted feiq ) 5% fawiq

dice position given below ? HA-H HE §?

6 6 5 1 6 6 /| /51111

3 2 5 : 6 4 4 2 3 2 7 4 6 4 4 2
(A) 1 (A) 1
(B) 2 (B) 2
© 3 (@ 3

A -B A -

(D) 6 newer https://previouspaper.qlr?) g Answer-—B




SeldMPEUPEHOUMACH 1 different from 31 Freafares § &9 3 firg =1 59 =11 -
others :

(A) | CE (A} CE
(BY |GK (B) GK
(C) MO () MQ
(D) |5X  Answer-D (D) 5X  Answer-D

How many triangles are there in the 32 fa3 9 faay 73 € =amse

figure ?|

£ \
(&) 115 (A) 15
®)| [17] (B) 17
I
Q)] n9 (C) 19

(Dyf 20 . Answer-C https://previouspaper i)  2() Answer - C
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33 The product of two numbers is 97461

34.

and their greatest common divisor is

21 thentheir least common multiple is
(A) 4461
(B) 4641
(C) 4861

(D) None of above

Answer - B

A cartravels a distance d on a straight
road intwo hours and then retumns to
the starting point in next three hours.
Its average speed is

d
A

d
(B) 5

24
0%

5d

(D) Tor Answer - C
https://pre

33 e 3 37 1 U 97461 1 71 ST
YT HITAE 2T R T G

213, @

(A) 4461

(B) 4641

(C) 4861

(D) 3 % & S T

Answer — B

3. GER A ggE gl 2 e i
it & 7o I g W ot 3w
AT 31 S 2 | 36T 0 e

|

(A)

(D) "~  Answer-C

iouspaper.in



35.

36.

37.

If d = ged (a, b), then ged

A person purchase a scooter at certain
cost, After two years he sells it at 20%

https://previouspaper.in 4-h

)
(A) 1
(B) b
(C) 2
(D) d

Answer - A

loss. If he had sold it for ¥ 4,000 more
he would have got 20% profit. What
was the purchase of scooter ?

(A) 10,000%

(B) 20,000%

(C) 8,000%

(D) None of above Answer-A

The value of

(1 6)% X (2.7))4
10/

(A) 12

12
(B) «/_0

©)

10)/

(D) None of above Answer sps:iiprevioy

36.

37.

- R d=ged (a, b), T ged [% %J

(A) 1
(B) b
() 2

(D) d Answer — A

T s O S fohelt i W
FA LI T R 20% 7 3

a1 € | IR 78 T 4,000 # W
20% T B, L 1 37 T

(A) 10,000%
(B) 20,000%

gl ot 38
R

(C) 8,000%
(D) IR H ¥ Hig T An

frerfofan = W g =
. (1 .6)/2 X (2.7)%
ok

(A) 1.2

12
B 7o
02

swer - A

spaper.in (D) m ﬁ a -q?rg qgi An;swer -A



38. Wﬂ?ﬁﬁ’%ﬁf’m@f@ﬂwﬁgﬁ@least ratios ?

39.

40.

we a

)3 N NS Answer -D

Complete the following series :
BZ, HT, NN, 7, ZB

(A) LF

(B) SX

(C) TH

(D) Tl Answer —C

Choose the correct alternative to

complete the following series :
abca _ bcaab _ca _bbe _

(A) ccaa
(B) abac
(C) bbaa

38. ﬁwﬁ%ﬁﬁmmmm%?

2 478t 47

AN T

N

R

i 80

B

G

© >

D ﬂ Answer -D
3o, freafrfed ot gl 0

BZ, HT, NN, ?, ZB

(A) LF

(B) SX

(C) TH

(D) T Answer - C

. Frerfifas A1 oot e g e feres
JMd 0 :
abea _ bcaab _ca _bbe _
(A) ccaa
(B) abac
(C) bbaa

(D) ahba il https://prevhpuspaper.irtD) abbag  Answer-—B



1 SolbEPHEHREPHARRRYEEX which can o 9 SR T I w0 A A A

be formed by folding the sheet ‘A’ e ST 3 T 8
E E
AlBIC|D A(B|C|D
F F

9 |4

aa

(D) None of above Answer-D D) ST & & B Answer-D

https://previouspaper.in



42. Rampmmrmsaaoeﬂrain sum of

43.

money from a bank at 10% per
annum at compound interest. The
entire debt is discharged in full by
Ram on payment of two equal
amounts of ¥ 1,000 each, one at the
end of the first year and the other at
the end of the second year. What is
the approximate value of the amount
borrowed by him ?

(A) % 1,852

(B) 1,736

(C) 1,694
(D) ¥1,792  Answer-B
In & school there is ratios of 4 : 3
between boys and girls. If the number
of girls is in increased by 10% their
number is 363, What is the total
number students in school now ?

(A) 753
) 803
(C) 770

(D) None of above Answer _h‘Etps://pre

a2 0T o4& ¥ 10% s gl w0 )
& 7 T 3TN B | 79 P 3R A
¥1,000 13 ot e R | o v
el 3t o o A aen g o qw
s I A T
g 7

(A) ¥1,852
(B) 1,736
(C) T1,694
(D) T1,792 Answer-B

3. forel et ¥ v 7o e A
4 : 321 4f2 wreferat i wem 10% T
¥ 3 WEm 363 8 2, o e A e
feerichat < e o fareft ?

(A) 753

(B) 803

©) 770

D) 370 4 4 FE T Answer - C

viouspape‘




44,

45.

46.

Whatus:tbe-asesageenh first thirty
natural numbers ?

(A) 205
(B) 155
() 7.75

(D) None of above Answer —B

A bottle is full of dettol. One fourth of
the dettol is taken out and water is
added this process is repeated thrice.
What is the ratio of dettol and water

after third time ?
(A) 2836
(B) 25139
(C) 15 49

(D) None of above Answer -D

What will be next number in the
following sequence ?

2,10, 30,68, ....

(A) 130

(B) 115

(C) 125

Answer - A

44, W?ﬁammﬁﬂmmg\w?

(A) 205
(B) 15.5
() 7.75
(D) TR A A FE E  Answer—B

45.

T A 22 R 1 0
Feer 30 a2 R 7 v
i aw v sl died a1 S e E

ST T WA 1 I BT

(A) 28:36
(B) 25:39

(C) 15:49
{D) Wﬂaﬂﬁﬁﬂﬁ'{?ﬁ Answer -D

Faferfia g o sren e #4187
2,10, 30,68, ....

47.

(A) 130
(B) 115
(C) 125

(D) None of above .

DII)I mﬁﬂgqﬁ Answer — A

viouspapeﬁ.



47.

48.

Findtte/ preiotshaPRiithe following
sequence.

9A, 11B, 15C, 23D, ...

(A) 35E

(B) 37E

(C) 39E

(D) None of above Answer—¢

What will be the next figure in the
following sequence ?

| |
X 0
X .

(B)

©)

Pl X

(D) None of the above AnswegzB) .

—5

fRerferfiea a1 o arTen we W A

 9A,11B, 15C, 23D, ..,

(A) 35E
(B) 37E
(C) 39E
(D) m ﬁ q_-:‘rg T{ﬁ Answer —C
freforfiaa argm & amen fer o g ?
¢ X 0Q]l0
X
0
X
(A
O
(B)
0] X
()
0 X

uspaper.in(.D) m ﬁ ‘Q @[g 7| Answer-B



49.

50.

51.

If ‘a'tmeangreyiblEneansin, ‘¢ Means
x and ‘d' means + then the value of
Bc7)c(7ab)b(6d3)d(3b2)

(A) 650
(B) 375
(C) 670

(D) None of the above Answer-c

What number will come in the blank
space in the following diagram ?

315|734
28[94

1128]14

8 | B2 |2

(A)
(B)
()

)

(D) None of above

21

—

9
17

o

Answer —C

What will be next term in the
following sequence
H,S,F,UD,?

(A) W
B) Y
€0
(D) None of above

Answeritfs://pre

49.

50.

e ‘2’ 1 W +, ‘b’ 1 Hefer —, ‘¢’
oW x 3 d' e+ |,
(8¢7)c(7a5)b(6d3)d(3b2)
(A) 650

(B) 375

(C) 670 |

(D) mﬁ&aﬁ@aﬁqﬁ Answer - C

o o B et e e 57
A1 |

3[65|7 |34

2181948

112)3 (14
5183|127

(A) 21
(B) 19

©) 17
(D) I § FE TR Answer—C

. Faf o s @ A

H,S,F,U,D,?

(A) W
B) Y
() 0

viouspape([n m iy m qﬁ Answer — A



